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[1] The monthly payment on an $10,000 3-year car loan is a function Sf(r) of the interest rate r%.

Now
J16)=351.57, 1" (16)=4.94,

If the interest rate is 16.5%, approximately, how large is tne monthly payment?

(5%)
[2] Refer to the graph.  Fill in each entry of the grid with P(for positive), N(for Negative) or 0. (5%)
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(31 35 B3t b 36y T 48 | (population) ~ PHRA ) (sample) ~ T 88 2 3 | (parameter) A T 4 # |

(variable of interest) # A A & & o 36 5 b — T BN 5] T 24,00 2 o (10%)

[4] Solve the recurrence equations: T()=2T(n/2)+n-1, 7(0)=1 (10%)

[5] Anapple orchard produces a profit of $40 a tree when planted with 1,000 trees.
the profit per wtree is reduced by 2 cents for each additional tree planted.
planted in order to maximize the total prafit from the orchard?

Because of overcrowding,
How many trees should be

(5%)

[6] Six students take a statistics test in a row of desks, with an aisle at each end of the row,

answer sheets on their own desks and go directly to one of the two aisles when thev
random order. What is the probability that

another student still taking the test?

They leave their
finish the test, in a
all the students go to one of the two aisles without passing by

(10%

(7] VB4 T 98 & £ %0 3) AN ‘ff;‘%EJr%'Jé‘)'ﬁt'fﬁﬁﬁ&%‘tﬁﬂ"ﬁfﬁ“?‘iﬁfﬁ%ii‘ T H A58 E o
ﬁg@%%&ﬁTﬂﬁ@%mﬁﬁOMQ%MJQiMS&Afﬂm%ﬁ%ﬁi’&é%%%ﬁ%
BoBAGRET o4 BARAE NG G5t R S ok S — 816 RIS E AL il R Y F NS
SE R 615 s AT 2 B 3120 2P OUbRARE 2 8 & B H 3 B2 B 47 9 D3FRIE A LR K
SATIGAR L > RS9 A @ HHURYE ) 8) ) & 4535 T 48 434 © (15%)

(8] ﬂﬁ%Wﬁﬁmﬂ%+%ﬁ@ﬁ’%¢ﬁ5®%ﬁ%o%%ﬁ?%%ﬂ&é@&@&@ﬁw%mi
QI A BB IR & L 5 9 OX I+ B DK dE3U5 b e 4 & A 47 2 (10%)

[9] Differentiate the following functions:

(10%)
& )= DH2) (eH3) (e H4) (x+5) (5%)
b f()=Vx+vx (5%
[10] Find the integrals: (10%)
Inx
a. J.Tﬂ'x (5%) b. _[xz Inx dx (5%)
[11} 4 is a matrix.  Find 4", if (10%)
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